Which Skier Won the Norway-to-Finland
Cross-country Ski Race?

Each ordered pair at the bottom of the page represents a point on the coordinates
below. Above each ordered pair, write the lener that appears at that point.
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TOPIC 6-a" Graphing Ordered Parrs: Fust Quadrant

Why Is a Mother Kangaroo Unhappy
When It Rains?

Each ordered pair at the bottom of the page representsa point on the coordinates
below. Above each ordered pair, write the letter that appears at that point.
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TOPIC 6-6: Graphing Ordared Paits: All Quadrants E-68

NOTE: Numbers are not printed along the x- and y-axes, as students may
benefit from writing the numbers themselves. An overhead transparency of

this page may help get students started.

‘What Did The Farmer Do When His Chicken

f x Wouldn't Lay Any Eggs?
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